Name

4-1 — 4-3 Quiz

Graph the linear equation.
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~——" 5. What is the slope of a line that is perpendicular to the line in Exercise

6. he costy in dofans) for.x pounds

of deli meat is Ffepresented by the
equation y = 3.5x. Graph the
equation and interpret the slope.

Slope = 35 4~ § %55 oor
\pﬁ \ Pound D
= g 6q 6 7. The ammmi}x(l}_c,upalof flour is proportional to the number x of

Ser iR tps The recipe calls for 6 cups of flour for every 4 eggs.

UP@ % L w"“e an equation that represents the situation. Lj N\X

b. Interpret the slope.

Q %% 6 c. How many eggs are included when the recipe uses 12 cups of flow

Complete the table. Plot the two solution points and draw a line
exactly through the two points. Find a different solution point
on the line. (Use the nr}nn axes for both graphs.)
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8. % Answers
8. __ Seoleft.
v-%x il
9. T 1= 9. See left.
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y=x+3|1 [
1
Solve for y. X4 43:42 2x-3u=3 1
0. x+dy=-12 YU 2 -X-121. 2 -3y =3 ;5_&3' Sl
Find the slope of the line. L{j 3 3 1
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14. Which is steeper, a slide that rises 3 feet for every 2 feet of run,
or a sliding pole that rises 5 feet for every { run? Explain.
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